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QUESTION 1

Given: In a single channel architecture (SCA) WLAN system, 802.11n (HT) APs should not share an SSID with 802.11g
(ERP) APs.

What is the reason for this recommendation?

A. Client stations would see two different sets of AP capabilities as they roam between APs with the same BSSID.
B. The added range of 802.11n APs would cause additional co-channel interference.

C. The additional beacon material in 802.11n beacons would confuse 802.11b/g client stations.

D. Beacons from 802.11n APs use 40 MHz channels, while beacons from 802.11g APs use 20 MHz channels.

Correct Answer: A

QUESTION 2

What distinguishes an independent basic service set (IBSS) from an infrastructure basic service set (BSS)?
A. An IBSS does not have a distribution system (DS), but a BSS does.

B. An IBSS does not require beacon frames, but a BSS does.

C. An IBSS does not support 802.11 authentication or association, but a BSS does.

D. An IBSS can only operate on a single channel, but a BSS can operate on multiple channels.

Correct Answer: A

QUESTION 3

The IEEE 802.11a/n physical layer technologies utilize the 5 GHz frequency band. What is true of the two lower bands
(UNII-1 and UNII-2) in this frequency spectrum? (Choose two)

A. The frequency range of these bands is 5000 MHz - 5200 MHz

B. Each of these two bands contain five 20 MHz channels.

C. Regulatory domains worldwide require DFS and TPC in these bands.
D. These bands have a total combined bandwidth of 200 MHz.

E. 20 MHz in each of these bands is reserved as a guard band.

Correct Answer: DE

QUESTION 4
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What problems may occur when there are hidden nodes in the BSS?
A. Increase in downlink (transmitted by AP) frame retries

B. High retransmission count for a subset of client stations

C. Use of frame fragmentation with fragment bursts

D. Excessive use of null data frames

E. Duration values vary widely in each data frame

Correct Answer: B

QUESTION 5

What type of RF transmitter is shown in both of the spectrum analysis exhibits?
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A. Military radar
B. Bluetooth mouse
C. Microwave oven
D. Wireless video camera
E. WIPS sensor

Correct Answer: D
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